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Instruct ions: Show al l  wprk. Answers without work wi l l  not receive f
an algebraic method. Gfve exact answers unless specif ical ly asked to

1' '  Find the value o[ the number sat isfying the expression: 40 %

l l  c redi t .  Guess and check is  not
'ound.

f what number is 1,22?

-' lon;

2 .

/- = 3oS

rked 30% off  and f inal ty sotd for 5490. Wh t  was the  or ig ina l  p r ice  o f  the
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4 . Two trains leave c i ty  on  para l le l  t racks ,  t rave l ing  the  same d ion .  The passenger  t ra in  i s
going twice as as  the  f re igh t  t ra in .  A f te r  45  minu tes ,  the  t ins  a re  30  mi les  apar t .  F ind  the
speed of each tra in  mi les  per  hour .
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has been divided into two f ields so that the th  o f  one f ie ld  i s  tw ice  tha t  o f
smal ler f ie ld square. l f  i t  takes 279 meters fencing to enclose he the f ie ld,
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